

Local Public Agency General Maintenance



Estimate of Maintenance Costs

Submittal Type Original

Maintenance Period

 Local Public Agency
 County
 Section Number
 Beginning
 Ending

 Village of Chatham
 Sangamon
 21-00000-00-GM
 05/01/21
 04/30/22

Maintenance Items

				Maintena	nce Items			
Maintenance Operation	Maint Eng Category	Insp. Req.	Material Categories/ Point of Delivery or Work Performed by an Outside Contractor	Unit	Quantity	Unit Cost	Cost	Total Maintenance Operation Cost
Winter Maintenance	IIA	No	Road Salt (Joint Purchase)	Ton	650	\$95.00	\$61,750.00	\$61,750.00
Waintenance			(Joint Furchase)					\$226 5280
Tree Trimming and Removal	IIA	No	Tree Trimming and Tree Removal	\$	1	\$15,000.00	\$15,000.00	\$15,000.00
3. Seal Coat (Joint Purchase) (Matls. Comp. Bid by Chatham Township)	IIA	No	Bituminous Materials HFRS-2 (0.2 Gal/SY) Deliver and Install	Gal	13,360	\$1.70	\$22,712.00	\$34,294.50
			Seal Coat Aggregate (Air Cooled Blast Furn. Slag) CA-13 (18 Lbs/SY) (Deliver and Install)	Ton	410	\$28.25	\$11,582.50	
Sidewalks and	IIA	No	Concrete	CY	110	\$110.00	\$12,100.00	\$19.600.00
Curbs	II/	140	Slab-Jacking	29500	18 8888	\$5,000.00	\$5,000.00	Ψ19,000.00
			ADA Ramps	\$ \$	1 1	\$2,500.00	\$2,500.00	
			ribritampo	Ψ		Ψ2,000.00	Ψ2,000.00	
5. Bituminous Patching	IIA	No	Pre-Mix	Ton	100	\$155.00	\$15,500.00	\$19,500.00
			Aggregate	Ton	400	\$10.00	\$4,000.00	
6. Roadside Maintenance	IIA	No	Aggregate	Ton	200	\$25.00	\$5,000.00	\$5,000.00
7. Traffic Control Devices	IIA	No	Traffic Signs (Various)	Each	26	\$75.00	\$1,950.00	\$2,500.00
			Sign Posts (Various) & Accessories	Each	10	\$55.00	\$550.00	
8. Grading and	IIA	No	Seeding / Mulch	Acre	3	\$3,000.00	\$9,000.00	\$14,000.00
Shaping Ditches			Ditch Liner	Foot	1,000	\$5.00	\$5,000.00	WO 0000
PCC Patching (Material Only)	IIB	No	PCC	CY	400	\$150.00	\$60,000.00	\$70,000.00
(material emy)			Equipment Rental	\$	1	\$10,000.00	\$10,000.00	
10. PCC Patching (Deliver & Install) (Various Locations)	IIA	No	PCC Patching	\$	1	\$20,000.00	\$20,000.00	\$20,000.00
11. Pavement Marking	IIA	No	Pavement Marking	Foot	1,000	\$1.50	\$1,500.00	\$1,500.00
12. Crack Sealing	IIA	No	Crack Sealing	\$	1	\$5,000.00	\$5,000.00	\$5,000.00
12. Grack Sealing	шА	140	Order Odding	Ψ			otal Operation Cost	\$268,144.50

Estimate of Maintenance Costs Submittal Type Original Maintenance Period Local Public Agency County Section Beginning Ending Village of Chatham Sangamon 21-00000-00-GM 05/01/21 Estimate of Maintenance Costs Summary Maintenance MET Funds RBI Funds Other Funds Estimated Co

	Estimate of Maintenance Costs Summary					
Maintenance	MFT Funds	RBI Funds	Other Funds	Estimated Costs		
Local Public Agency Labor						
Local Public Agency Equipment						
Materials/Contracts(Non Bid Items)	\$198,144.50			\$198,144.50		
Materials/Deliver & Install/Materials Quotations (Bid Items)	\$70,000.00			\$70,000.00		
Formal Contract (Bid Items)						
Maintenance Total	\$268,144.50			\$268,144.50		
	Esti	mated Maintenand	e Eng Costs Sumn	nary		
Maintenance Engineering	MFT Funds	RBI Funds	Other Funds	Total Est Costs		
Preliminary Engineering	\$7,312.89			\$7,312.89		
Engineering Inspection						
Material Testing						
Advertising						
Bridge Inspection Engineering						
Maintenance Engineering Total	\$7,312.89			\$7,312.89		
Total Estimated Maintenance	\$275,457.39			\$275,457.39		
Remarks						
SUBMITTED						
Local Public Agency Official Date						
1210	21					

Lalcy	4.27.21		
Village President		APPROVED Regional Engineer	
County Engineer/Superintendent of Highways	Date	Department of Transportation	Date



Resolution for Maintenance Under the Illinois Highway Code

		PI	Resolution Numb	set Form	lution Tuno	Castian Number
			Resolution Numb		lution Type	Section Number
				Ong	jinal	21-00000-00-GM
BE IT RESOLVED, by the		oard of Trust		_ of the V		Agency Type
C	hatham	Illin	nois that there is her	reby appropr		
Name of Lo Two Hundred Sevent	ocal Public Agency y Five Thousand	Four Hundre	d Fifty Seven &	39/100	Dollar s (§	\$275,457.39
	•					of Illinois Highway Code from
05/01/21 to	04/30/22 . Ending Date					
BE IT FURTHER RESOLV including supplemental or funds during the period as	revised estimates ap					Maintenance Costs, enance with Motor Fuel Tax
BE IT FURTHER RESOLV		Village	of		Chatha	am
shall submit within three m available from the Departn expenditure by the Departn	nonths after the end onent, a certified state	ment showing e	ce period as stated	above, to th		of Transportation, on forms
of the Department of Trans	sportation.	hereby directed				solution to the district office
Dan Ho	of Clerk	l ocal	Village Public Agency Type	Clerk in	and for said	Village Local Public Agency Type
of	Chatham	2000.	n out 1990 's 1990	inois, and ke	eper of the reco	ords and files thereof, as
	of Local Public Agency					
provided by statute, do he	reby certify the forego	oing to be a true	, perfect and compl	lete copy of	a resolution ado	pted by the
President and Board	d of Trustees of		Chatham		at a meeti	ing held on .
Governing Body	Туре	Na	me of Local Public Ag	ency		Date
IN TESTIMONY WHEREO	OF, I have hereunto s	et my hand and		_ day of _		•
			Day		Mont	th, Year
(SEAL)			Clerk Signature		AA	7
					APPROVED	
			Regional Engir Department of		on	Date



Maintenance Engineering to be Performed by a Consulting Engineer



Local Public Agency				County	Sect	on Number
Village of Chathar		Sangamon	21-0	21-00000-00-GM		
The services to be per maintenance operation				items of work include	d in the estin	nated cost of the
Investigation maintenance municipalities body as may 12330) form.	operations to be inc and counties), mai reasonably be requ	he streets or highway cluded in the mainter ntenance estimate o ired; attendance at p f the maintenance ex	nance program; prep f cost and, if applical public letting; prepara	(in consultation with the aration of the mainter ole, proposal; attendantion of the contract, question of the contract, question of the submetric of the submet	nance resolut nce at meeti uotations, ar	tion (BLR 14220 for ngs of the governing nd/or acceptance (BLR
Furnishing th deliver and in	stall proposal and/o	nspection, including or checking material i	nvoices of those ma	ent estimate for contrintenance operations completed by a qualifi	requiring eng	
For furnishing prelimin charged per maintena negotiated preliminary total estimated costs of final cost of that group contractor operations.	nce period. For furn engineering fee pe of that group. The ne	ishing engineering in rcentage for each ma egotiated fee for engi	spection, the engine aintenance group sho neering inspection fo	er will be paid a nego own in the "Schedule or each maintenance	itiated fee pe of Fees" sha group shall b	rcentage. The ill be applied to the e applied to the total
		SCH	EDULE OF FEES			
Total of all Maintenand	ce Operations:			A 4 050 00		
= \$20,000 Bas	e Fee		20,000 Base Fee	e = \$1,250.00		
			PLUS			
Maintenance	Preliminary	Engineering	Engineering	g Inspection		
Engineering Category	Maximum Fee %	Negotiated Fee %	Maximum Fee %	Negotiated Fee %	Operation	n(s) to be Inspected
1	NA	NA	NA	NA		NA
IIA	2%	2%	1%			
IIB	3%	3%	3%			
111	4%		4%			
IV	5%		6%			
The LPA certifies that Selection Act 50 (ILC: Manual.						
BY: Local Public Agency S	Signature	Date	BY: Consultin	g Engineer Signature		Date
1) Del C.	1	4-27-21)m 21.	2111	4/27/21
Title			Title			
Village P	reident		Prz	DELT MANAGE	忆	
Vidage	CSWD O		P.E. Seal			Date
				MES M. MIC	MA ANIE	4/27/21
Approved: Regional Engineer, ID	от	Date		062-052810 REGISTEREL PROFESSION/ ENGINEER OF	A CHARLES OF THE STREET, STREE	
D : 10.1/02/21				TLINO!	Personal Di	P.05520 (Pov. 06/17/10)



Local Public Agency General Maintenance



Estimate				e of Maintenance Costs			Submittal Typ	Original	
									Maintenance Period
Local Public Agency County					Sectio	n Number	Beginning	Ending	
Village of Chatham Sangamo				on	21-00	0000-01-GM	05/01/21	04/30/22	
M									
	1		14-4		Maintena	ince Items	<u> </u>	1	Total
Maintenance Operation	Maint Point of Dence Eng Insp. Work Perform Category Req. an Outside Company		Material Cate Point of Deliv Work Perform an Outside Co	very or ned by entractor	Unit	Quantity	Unit Cost	Cost	Total Maintenance Operation Cost
1. Pvmt. Repair (Various)	Pvmt. Repair Pavement Remov				\$	1	\$280,000.	\$280,00	0.00 \$280,000.00
				•				Total Operation C	sost \$280,000.00
				8				nance Costs Summ	nary
Maintenance					MFT	Funds	RBI Funds	Other Funds	Estimated Costs
Local Public Age		12							
Local Public Age									
Materials/Contra									
Materials/Deliver			s Quotations (Bi	d Items)					- 000000 00000 0000
Formal Contract	(Bid Items)				\$280,000.00			\$280,000.00
			Maintenar	nce Total		\$280,000.00		- F - O - 1 - O	\$280,000.00
Maintananaa Fu	_!			å	MET		RBI Funds	nce Eng Costs Sum Other Funds	Total Est Costs
Maintenance En					MFI	Funds	RBI Funds	Other Funds	
Preliminary Engi						\$14,000.00 \$16,800.00			\$14,000.00 \$16,800.00
Engineering Insp	ection								\$4,000.00
Material Testing						\$4,000.00			\$4,000.00
Advertising Bridge Inspection	Engineer	ina		:					
Bridge Irispection			ance Engineer	ing Total		\$34,800.00			\$34,800.00
	N	namen	iance Engineer	ing rotal		\$34,800.00			\$34,800.00
		Total	Estimated Mair	ntenance	,	\$314,800.00			\$314,800.00
Remarks				100 1100 000 000 000					
		SUBMI	TTED						
Local Public Age	ncy Officia	al		Date					
Dal	CX	2		4.27	-21				
Title	\bigcap	1						APPROVED	
Village	treside	nt				Pegional	Engineer	ALLICOVED	
County Engineer/Superintendent of Highways Date						ent of Transporta	ation	Date	
South, Engineer, experimental at Figure 7									
				1	- 1				11 1